# DeVry University Undergraduate Tuition, Fees and Expenses Effective July 2025 Session Through May 2026 Session: Degree Program Students Except Those in California and Onsite Students in New Jersey

Bachelor's Degree Programs <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	Total Program Cost <sup>4</sup>
Accounting	120	\$514	\$61,680	\$3,440	\$1,600	\$66,750
Business Administration	124	\$514	\$63,736	\$3,440	\$1,600	\$68,806
Business Management	122	\$514	\$62,708	\$3,440	\$2,800	\$68,978
Computer Information Systems	124	\$514	\$63,736	\$3,440	\$2,800	\$70,006
Cybersecurity & Networking	124	\$514	\$63,736	\$3,440	\$2,800	\$70,006
Engineering Technology	126	\$514	\$64,764	\$3,440	\$2,800	\$71,034
Healthcare Administration	121	\$514	\$62,194	\$3,060	\$1,400	\$66,684
Information Technology & Networking	120	\$514	\$61,680	\$3,440	\$2,800	\$67,950
Software Development	120	\$514	\$61,680	\$3,440	\$2,800	\$67,950
Technical Management	122	\$514	\$62,708	\$3,440	\$1,600	\$67,778
Associate Degree Programs <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	Total Program Cost <sup>4</sup>
Business	61	\$514	\$31,354	\$1,920	\$800	\$34,104
Cybersecurity & Networking	62	\$514	\$31,868	\$1,920	\$1,400	\$35,218
Engineering Technology	64	\$514	\$32,896	\$1,920	\$1,400	\$36,246
Health Information Technology	61	\$514	\$29,8125	\$1,920	\$1,400	\$33,162
Information Technology & Networking	60	\$514	\$30,840	\$2,300	\$1,750	\$34,920

<sup>&</sup>lt;sup>1</sup> Program availability varies by location and delivery method.

<sup>&</sup>lt;sup>2</sup> Includes course resource fee averaging \$150 per session, one-time-per-enrollment \$400 learning management system (LMS) access fee and nonrefundable student services charge of \$40 per session.

<sup>&</sup>lt;sup>3</sup> Average estimated per-session textbook and equipment expenses for full-time students vary by program and range from \$70-\$175. Visit the Textbooks, Supplies and Specialized Equipment section of DeVry's undergraduate academic catalog for details.

<sup>&</sup>lt;sup>4</sup> For matriculating students at current tuition rates, credit hours shown and full-time attendance; includes \$30 application fee; nonrefundable student services charge, average estimated course resource fee, LMS access fee, and average estimated textbook and equipment expense.

<sup>&</sup>lt;sup>5</sup> Reflects one three-credit-hour course provided at no tuition charge and intended to be taken in the final session.

# DeVry University Undergraduate Tuition, Fees and Expenses Effective July 2025 Session Through May 2026 Session: Undergraduate Certificate Program Students Except Those in California and Onsite Students in New Jersey

Undergraduate Certificate Program <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	Total Program Cost <sup>4</sup>
Accounting	24	\$514	\$12,336	\$1,160	\$400	\$13,926
Business Essentials	25	\$514	\$12,850	\$1,160	\$400	\$14,440
Cloud Computing	40	\$514	\$20,560	\$1,540	\$1,050	\$23,180
Cyber Security	40	\$514	\$20,560	\$1,920	\$1,400	\$23,910
Data Mining & Analytics	43	\$514	\$22,102	\$1,920	\$800	\$24,852
Engineering Technology	39	\$514	\$20,046	\$1,540	\$600	\$22,216
Information Technology Essentials	23	\$514	\$11,822	\$1,350	\$875	\$14,077
Internet of Things	40	\$514	\$20,560	\$1,540	\$1,050	\$23,180
Medical Billing & Coding	31	\$514	\$14,3925	\$1,350	\$875	\$16,647
Medical Billing & Coding – Health Information Coding	40	\$514	\$19,018 <sup>5</sup>	\$1,730	\$1,225	\$22,003
Networking Essentials	23	\$514	\$11,822	\$1,350	\$875	\$14,077
Programming Essentials	22	\$514	\$11,308	\$1,350	\$500	\$13,188
Project Management	32	\$514	\$16,448	\$1,350	\$500	\$18,328
Software Design & Solutions	42	\$514	\$21,588	\$1,920	\$800	\$24,338
Web & Mobile Application Development	43	\$514	\$22,102	\$1,920	\$800	\$24,852
Website Design	36	\$514	\$18,504	\$1,540	\$420	\$20,494
Website Development	38	\$514	\$19,532	\$1,540	\$420	\$21,522

<sup>&</sup>lt;sup>1</sup> Program availability varies by location and delivery method.

<sup>&</sup>lt;sup>2</sup> Includes course resource fee averaging \$150 per session, one-time-per-enrollment \$400 learning management system (LMS) access fee and nonrefundable student services charge of \$40 per session.

<sup>&</sup>lt;sup>3</sup> Average estimated per-session textbook and equipment expenses for full-time students vary by program and range from \$70-\$175. Visit the Textbooks, Supplies and Specialized Equipment section of DeVry's undergraduate academic catalog for details.

<sup>&</sup>lt;sup>4</sup> For matriculating students at current tuition rates, credit hours shown and full-time attendance; includes \$30 application fee; nonrefundable student services charge, average estimated course resource fee, LMS access fee, and average estimated textbook and equipment expense.

<sup>&</sup>lt;sup>5</sup> Reflects one three-credit-hour course provided at no tuition charge and intended to be taken in the final session.

### DeVry University Undergraduate Tuition, Fees and Expenses Effective July 2025 Session Through May 2026 Session: Degree Program Students in California

Bachelor's Degree Program <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	STRF <sup>4</sup>	Total Program Cost <sup>5</sup>
Accounting	120	\$514	\$61,680	\$3,440	\$1,600	\$0	\$66,750
Business Administration	124	\$514	\$63,736	\$3,440	\$1,600	\$0	\$68,806
Business Management	122	\$514	\$62,708	\$3,440	\$2,800	\$0	\$68,978
Computer Information Systems	124	\$514	\$63,736	\$3,440	\$2,800	\$0	\$70,006
Cybersecurity & Networking	124	\$514	\$63,736	\$3,440	\$2,800	\$0	\$70,006
Engineering Technology	126	\$514	\$64,764	\$3,440	\$2,800	\$0	\$71,034
Healthcare Administration	121	\$514	\$62,194	\$3,060	\$1,400	\$0	\$66,684
Information Technology & Networking	120	\$514	\$61,680	\$3,440	\$2,800	\$0	\$67,950
Software Development	120	\$514	\$61,680	\$3,440	\$2,800	\$0	\$67,950
Technical Management	122	\$514	\$62,708	\$3,440	\$1,600	\$0	\$67,778
Associate Degree Programs <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	STRF <sup>4</sup>	Total Program Cost <sup>5</sup>
Business	61	\$514	\$31,354	\$1,920	\$800	\$0	\$34,104
Cybersecurity & Networking	62	\$514	\$31,868	\$1,920	\$1,400	\$0	\$35,218
Engineering Technology	64	\$514	\$32,896	\$1,920	\$1,400	\$0	\$36,246
Health Information Technology	61	\$514	\$29,812 <sup>6</sup>	\$1,920	\$1,400	\$0	\$33,162
Information Technology & Networking	60	\$514	\$30,840	\$2,300	\$1,750	\$0	\$34,920

<sup>&</sup>lt;sup>1</sup> Program availability varies by location and delivery method.

<sup>&</sup>lt;sup>2</sup> Includes course resource fee averaging \$150 per session, one-time-per-enrollment \$400 learning management system (LMS) access fee and nonrefundable student services charge of \$40 per session.

<sup>&</sup>lt;sup>3</sup> Average estimated per-session textbook and equipment expenses for full-time students vary by program and range from \$70-\$175. Visit the Textbooks, Supplies and Specialized Equipment section of DeVry's undergraduate academic catalog for details.

<sup>&</sup>lt;sup>4</sup> The Student Tuition Recovery Fund (STRF) is a nonrefundable California state-imposed assessment DeVry collects from students and remits on behalf of California residents enrolled in an online program at DeVry and students enrolled at a DeVry location in California. The STRF fee is currently \$0.

<sup>&</sup>lt;sup>5</sup> For matriculating students at current tuition rates, credit hours shown and full-time attendance; includes \$30 application fee; nonrefundable student services charge, average estimated course resource fee, LMS access fee, and average estimated textbook and equipment expense; does not include STRF assessment (visit footnote 4).

<sup>&</sup>lt;sup>6</sup> Reflects one three-credit-hour course provided at no tuition charge and intended to be taken in the final session.

#### DeVry University Undergraduate Tuition, Fees and Expenses Effective July 2025 Session Through May 2026 Session: Undergraduate Certificate Program Students in California

Undergraduate Certificate Program <sup>1</sup>	Minimum Credit Hours	Tuition Per Credit Hour	Total Tuition	Fees <sup>2</sup>	Textbook and Equipment Expense <sup>3</sup>	STRF⁴	Total Program Cost <sup>5</sup>
Accounting	24	\$514	\$12,336	\$1,160	\$400	\$0	\$13,926
Business Essentials	25	\$514	\$12,850	\$1,160	\$400	\$0	\$14,440
Cloud Computing	40	\$514	\$20,560	\$1,540	\$1,050	\$0	\$23,180
Cyber Security	40	\$514	\$20,560	\$1,920	\$1,400	\$0	\$23,910
Data Mining & Analytics	43	\$514	\$22,102	\$1,920	\$800	\$0	\$24,852
Engineering Technology	39	\$514	\$20,046	\$1,540	\$600	\$0	\$22,216
Information Technology Essentials	23	\$514	\$11,822	\$1,350	\$875	\$0	\$14,077
Internet of Things	40	\$514	\$20,560	\$1,540	\$1,050	\$0	\$23,180
Medical Billing & Coding	31	\$514	\$14,392 <sup>6</sup>	\$1,350	\$875	\$0	\$16,647
Medical Billing & Coding – Health Information Coding	40	\$514	\$19,018 <sup>6</sup>	\$1,730	\$1,225	\$0	\$22,003
Networking Essentials	23	\$514	\$11,822	\$1,350	\$875	\$0	\$14,077
Programming Essentials	22	\$514	\$11,308	\$1,350	\$500	\$0	\$13,188
Project Management	32	\$514	\$16,448	\$1,350	\$500	\$0	\$18,328
Software Design & Solutions	42	\$514	\$21,588	\$1,920	\$800	\$0	\$24,338
Web & Mobile Application Development	43	\$514	\$22,102	\$1,920	\$800	\$0	\$24,852
Website Design	36	\$514	\$18,504	\$1,540	\$420	\$0	\$20,494
Website Development	38	\$514	\$19,532	\$1,540	\$420	\$0	\$21,522

<sup>&</sup>lt;sup>1</sup> Program availability varies by location and delivery method.

<sup>&</sup>lt;sup>2</sup> Includes course resource fee averaging \$150 per session, one-time-per-enrollment \$400 learning management system (LMS) access fee and nonrefundable student services charge of \$40 per session.

<sup>&</sup>lt;sup>3</sup> Average estimated per-session textbook and equipment expenses for full-time students vary by program and range from \$70-\$175. Visit the Textbooks, Supplies and Specialized Equipment section of DeVry's undergraduate academic catalog for details.

<sup>&</sup>lt;sup>4</sup> The Student Tuition Recovery Fund (STRF) is a nonrefundable California state-imposed assessment DeVry collects from students and remits on behalf of California residents enrolled in an online program at DeVry and students enrolled at a DeVry location in California. The STRF fee is currently \$0.

<sup>&</sup>lt;sup>5</sup> For matriculating students at current tuition rates, credit hours shown and full-time attendance; includes \$30 application fee; nonrefundable student services charge, average estimated course resource fee, LMS access fee, and average estimated textbook and equipment expense; does not include STRF assessment (visit footnote 4).

<sup>&</sup>lt;sup>6</sup> Reflects one three-credit-hour course provided at no tuition charge and intended to be taken in the final session.

# DeVry University Undergraduate Tuition, Fees and Expenses Effective July 2025 Session Through May 2026 Session: Onsite Degree Program Students in New Jersey

Bachelor's Degree Program <sup>1</sup>	Minimum Credit Hours <sup>2</sup>	Tuition Per Credit Hour	Total Tuition	Fees <sup>3</sup>	Textbook and Equipment Expense <sup>4</sup>	Total Program Cost⁵
Business Administration	127	\$514	\$65,278	\$3,440	\$1,600	\$70,348
Computer Information Systems	124	\$514	\$63,736	\$3,440	\$2,800	\$70,006
Technical Management	122	\$514	\$62,708	\$3,440	\$1,600	\$67,778

<sup>&</sup>lt;sup>1</sup> Program availability varies by location.

<sup>&</sup>lt;sup>2</sup> Includes credit hours required in Personal and Professional Development courses, which are awarded institutional credit only.

<sup>&</sup>lt;sup>3</sup> Includes course resource fee averaging \$150 per session, one-time-per-enrollment \$400 learning management system (LMS) access fee and nonrefundable student services charge of \$40 per session.

<sup>&</sup>lt;sup>4</sup> Average estimated per-session textbook and equipment expenses for full-time students vary by program and range from \$70-\$175. Visit the Textbooks, Supplies and Specialized Equipment section of DeVry's undergraduate academic catalog for details.

<sup>&</sup>lt;sup>5</sup> For matriculating students at current tuition rates, credit hours shown and full-time attendance; includes \$30 application fee; nonrefundable student services charge, LMS access fee, average estimated course resource fee, and average estimated textbook and equipment expense.